Week 6 Worksheet - Differential Equations

Instructions. Follow the instructions of your TA and do the following problems. You are not
expected to finish all the problems. So take your time! :)

Two Types of 1st order differential equations to solve in this course:
1. Separable 2. Linear

1. Determine the type of the differential equations (separable or linear).
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2. Some understanding of the linear differential equations

%+a(m)y=b(z).

(a) Denote A (z) = [ a(z)dz. What is £ A(z)?
(b) Compute % (e"‘(x)y) using the product rule, where y is a function of .
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Integrate both sides, we get
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3. Solve the following differential equation.
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